> 4= = SEDH
H T MO - BtiEE =8 Y > /iR [ RLEET] R
— I'III %7 T ERECENEAR 18 | 268 ___
.I_ HIFE(E150 E == gk ~ FEEE 82—1116 2R | 9H-248
K 38 9H-26H
B 1900 —~ )Ly Sv)./BEfEh)
#A X T 11/9]12/9] 1/6 H#i X _ Hh 5 £ 11/9]12/9] 1/6 H#h X _ mA 11/9]12/9] 1/6 VN @
= EW%%FE 0.11] 0.15] 0.15 s IZJ:%#;‘RE%E&%@/J— 0.63] 0.57] 0.62 n mﬁlﬂﬂﬂﬂ@%%ﬁﬁ 0.42] 0.38] 0.37 - 5
B B H|EEHESH 0.13[ 0.17] 0.15 AR EEFREL 52— 0.55| 053] 0.53 FRERHAFNRE 0.40[ 0.31] 0.28 S 5]
EARR|E E/\Eﬁﬁ*" e 0.15| 020] 017 | [E 2 RlBHRT—1E=E o83l 083082 | [ |EERE=m 0.74] 0.71] 0.71 gggj 5
A K|AKZEHESHK 0.14] 0.21] 0.17 E 3 R|EFRILTETHEL 42— 0.53] 053] 0.56 ClEER S EEAR = X5 0.79[ 0.78] 0.78 T i)
G T 0.14] 0.15] 0.15 ¥ 4 R|EEHEEELRR 0.71] 0.75] 0.83 E R E|XBERFR 0.19] 0.18] 0.22 |3 A 15
I N[EIN&EEmR 0.14] 0.18] 0.16 % 5 Bﬁzmﬁﬁﬁmﬁﬁﬁ 0.93] 0.87] 0.88 E R f|ILBEEAR 0.15[ 0.17] 0.18 1
W iz WRIRER AT 0.12]/ 0.17] 0.16 EE3995 #h il (B9 R T EEFT) | 1.20] 1.16] 1.18 = R m|&REES 0.21] 0.24] 0.21 — A 5
HSCEREIEE 0.20]/ 0.23] 0.20 = 6 BE%%;%JQW— 0.73| 0.63] 0.65 E R [AKFESH 0.25| 0.25| 0.25 7 1 45
MR E— /&R 0.13] 0.20] 0.17 i [E 182885 5 4 iR Hh A B HR A% Al 0.58| 0.46] 0.48 & R h|ERHEIERT 0.18[ 0.18] 0.17 L :él
=l BERTRE 0.11] 0.13] 0.12] |&wlE 7 R|&#E®RAER 0.32] 0.34] 0.36 Jsj,\J: SER| £ 98 AR Al 0.21] 0.20] 0.17 ?Tfﬁ f--.]
B2 X N[ERIZS2 =T+t 58— 0.10] 0.12] 0.12] & o Baiﬁﬁa\sﬁﬂsmﬁ 0.36] 0.34] 0.34 ';lT METELTARE 0.16] 0.14] 0.13 %o JE
BT |h & t|ERABE 0.12| o.18| 0.14] [&|* B /NEIRRR S 0.89| 0.89] - [ W[ EES EISER AT 0.16] 0.15] 0.15 <X B8
M B[ENFEESH(HH) 0.10[ 0.16] 0.13 R % B WHHEES S 0.38[ 0.50] - 3 NEEN =SS 0.15] 0.17] 0.16 2L
X F[E-FUFC OB 0.15] 0.16] 0.18 B 9 R|IBAI)—NIRE] 0.68| 0.66] - & W RELRARE 0.19] 0.19] 0.19 shm D
A 37 B 1[ER R KIS 0.17] 0.21] 0.21 SFESH 0.68| 0.50| - X BABZEHESH 0.19] 0.18] 0.17 VAL =
A ¥ H 2| AR B 0.16] 0.18] 0.16 %1O|zjc%%$5ﬁ&%t>9— 0.36/ 0.33] 0.33 F  BE[HEARE 0.16] 0.17] 0.17 ﬂ’%; H
B[R AKE 0.13] 0.15] 0.16 BB/ BRESH 0.46| 0.47] 0.47 | ERARE 0.19] 0.18] 0.16 o -
b E|hEBESR 0.14] 0.17] 0.16 %11Bﬁ§ﬁﬂ’~]6}fﬂ%t’>9— 0.68[ 0.65] 0.65 KX BXELARE 0.19[ 0.18] 0.19 sE -
£ fA|EHESFR 0.15[ 0.18] 0.17 ERE =N RE 0.54| 0.60| 0.57 E  H|EHER 0.26] 0.22] 0.22 ey D
= # BT|[LEETE S 0.13[ 0.14] 0.17 %mzaﬁﬁzgnmuwﬁ 0.83] 0.86] 0.91 N B 0.31] 0.35] 0.36 E R
T fA|THEES 0.13[ 0.14] 0.16 )= "= Bk 0.71] 0.67] 0.67 ¥ M H[EMBARARE 0.45| 0.41] 0.42 =1
WX | T 11/9[12/9] 1/6 #X i R 11/9]12/9] 1/6 ¥ 5 S|EFAESIERBLy AR 0.23] 0.26] 0.26 2 T
= iR [BRERHI EE PR 0.24] 0.17] 0.17 5 R|IBS R/NFERRFAI 0.14| 0.15] 0.15
KITEB 0.17] 0.18] 0.17 N GR[INRARSE 0.13[ 0.14] 0.14 =+ /o =g e 4t
a m*ﬂiﬂﬂt%%ﬁﬁ 0.22[0.19] 0.18 - 3215 EALR 1 BEH Ay 0.21] 0.20] 0.19 .EE*:J'H'_JW *ﬁﬁ!ﬁ E“E{f‘ﬂ%.
& BB A % B ISR =P 0.19]| 0.16] 0.16 "lHEIE29S5 K REREE 0.16| 0.14] 0.13 SCERRF A ClE, N FRiiiak ICRERERE AREBE L, MERKREE2 R -2 X—UTAEKLT
B B KEISIhHNEREDLE 0.17] 0.20] 0.18 N Eﬁﬁ*"rsw* SFfF 0.20[ 0.20] 0.22] v ‘ ‘
gi i & KRt 54— 0.14] 0.15] 0.15 MEITSUF REREE 0.08] 0.09] 0.08] __ Alald, AHEMAD 3 AL HILOBGHHRIC OV TEIMOE L £ _
B H[E/NELSR 0.14] 0.14] 0.13 b H[PETARE 0.17] 0.17] 0.15 . . BEHARH D FHSE
EHTE BERASE o 0.16| 0.16] 0.15 < mNHARE 0.18] 021 020 | & R AERA B BERE (1ERAHY)
B BAMEERROTES 0.16] 0.16] 0.16 T RREE 0.20/ 0.13] 017 - R R
% BRESEMT R 5— 025| 022| o18| | [F  m|ERTEm 0.141 0.14]0.14] [ 400 EERTEUR | 10/17~12/26 | 16808 | 5747470 —A L 0.34%4 70—~ Lk
B H|AHEGRERTTHEE 57— 0.23[ 0.19] 0.16 ABE=—1—RY &SRR 0.25| 0.25] 0.21 it 4 S N R R
A R e 013[ 016l 016 | |t PlEios FaEs 0.15|70.13] 0.3 BFHRNERL| 10/17~12/26 | 1,680851H | 848347 —A ILH 0.50¥47RY—A Ik
X o N e . L
IEEE FErEST Bk 101_@ 102_13 2)_/168 ; m%gfggﬁﬁﬁﬁﬁ 8:23 8:2; 8:;2 BE| BETHB | 10/17~12/26 | 1,6808/ [286v/9RY—A" Lk 0.1 794505~ ILb
" 1| EETHE ) ) ) Y 2 7N ) . . C e .
; § zg’ﬁ,fﬂﬁ 8_;‘21 8_;? 8_;2 ;Iﬁ '“Bk ﬁﬁﬁgég‘fﬁﬁ 8_2;’ 8_22 8_22 sl BFHE&ERT | 10/17~12/26 | 1,6808%R] |3317140Y—A" LM 0.20949RY—A"ILE
A B EE%E%%FE 0.27] 0.22] o0.26] |BT|E &H|EZZEHESH 0.37] 0.30] 0.30
7 A P E ST 0.24| 0.19] 0.23 B X 1|=ILEER 0.28] 0.24] 0.22 s, =3 3151 A N ~
& ﬁEEﬁr"ti ﬂxr%ﬁ#@ﬁﬂ% > AO| 0.25[ 0.23] 0.22 B X 2fHE®EZENERH 0.33] 0.25] 0.25 Ofi&%‘f‘f? B%ﬁjéﬁﬁé @&fﬂbﬁ'@
BE | EREILESR 0.25| 0.23] 0.27 B X EX=RAREE 0.28] 0.23] 0.22 RIS 5 IE LB, é/ﬁ.@ﬁ%ﬂ%?&@@“ét&b MEZx% & LI-K
LA B ﬂﬁ':J:iﬂlZ%%Fﬁ 0.39] 0.41] 0.49 K 5 B RSABHRAREE 0.32| 0.27] 0.26] S#RIIE-CERULEENCARD THUHR - PRk ”’\J %Fﬁ%bi@“
%%ﬁ EIRG %)'rBM’E% i 0.38| 0.28] 0.31 N EMEAREE 0.39| 0.31] 0.31 HATH LIAAIIARE T, ;%B/\ODCH\H%EF‘? ZHLTLIEE N,
m|E_ A= \Eﬁﬁ&ﬁz& ) B 0.18[ 0.19] 0.17 X B|IXKEZENESFH 0.41| 0.35| 0.34
N AE m/J\#ﬁm% 0.17] 0.15] 0.15 RS 0.46] 0.39] 0.37| 1 B AHIE _ _ _
B 73 JHE#EJII%%FE 0.26] 0.23] 0.27 A R|IARMEBZEHNESH 0.37] 0.30] 0.29 Z] E] B =15 T8
B HE[EREESF 0.17] 0.13] 0.13 BT 0.33] 0.30] 0.32 1B2908 (B) 10~ 128 [dtBEHBIZI2=-T1475Y 100 %
2 JI[2NEEFREES— 0.21] 0.19] 0.20 £t B|XBENRE 0.73|0.73] 0.71 = 1 AR5~ 1 605 ABTHEE 100 %
B R|ARESMR 0.25| 0.24] 0.24 FEAREE 0.75| 0.73] 0.74] 2 #EIFLHNE (FF)
ENREILRSEE 0.44| 0.44] 0.48 B EBEBISA=T(TSH 0.46] 0.41] 0.41] () fhtiRiE & RSB O HEHE | >N T
i #B[RAAILREEZD 0.54| 0.55| 0.57 HAEHX /N REE 0.44| 0.39] 0.37] () RO REFHDOEY 2 E5Te)
maEES 0.40| 0.43] 0.46 B B|EsIMEARE 0.47] 0.42] 0.43] (3) Yo Hfk




